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Multiplication 504

Multiply these numbers.

How do you catch an elephant? Hide in the grass and
make a noise like a peanut.

L 12x5= 2. 12 x10 = 51. 12 x8= 6. 12x11=
2. 12 x2= 271. 12 x 8 = 52. 12 x2= 12 x11 =
8. 12 x12 8. 12 x7+= 8. 12 x5= 8. 12 x12=
4 12x10 2. 12 x 2= . 12 x1= 9. 12 x11=
5 12x1= 0. 12 x12= 5. 12 x12 = 80. 12 x7 =
6. 12x7= 8l 12 x9= 6. 12 x5= 8l. 12 x5 =
7 12x3= 82. 12 x12= 57. 12 x 3= 82. 12 x12=
8 12 x10 33. 12 x11= 8. 12 x10= 83. 12 x9=
9 12 x11 4. 12 x 3= 9. 12 x4 = 84. 12 x11=
1012 x 12 3. 12x1= 60. 12 x 4 = 85. 12 x3=
.12 x3= 3. 12 x 12 = 61. 12 x8= 86. 12 x 1=
12. 12 x2= 3. 12 x11 = 62. 12 x2= 8. 12 x9=
13- 12 %x3 = 38. 12 x10= 63. 12 x11= 88. 12 x6=
1412 x 10 3. 12 x5 = 64. 12 x 3 = 89. 12 x 1=
1512 x1= 40. 12 x 12 = 65. 12 x 9 = 9. 12 x5=
1612 x3= 4. 12 x12 = 66. 12 x 3 = 9L 12 x 12 =
1712 x 10 42. 12 x 11 = 67. 12 x10 = 92. 12 x9=
18 12 x 11 43. 12 x 3 = 68. 12 x4 = 98 12 x11=
1912 x 12 4. 12 x1= 69. 12 x4 = 9. 12 x3=
20. 12 x 3= 45. 12 x 12 = 70. 12 x8 = 9. 12x1=
21. 12 x2= 4. 12 x 11 = 112 %x2= %. 12x9=
22. 12 x3 = 4712 x 10 = 2. 12x11 = 97. 12 x6 =
23 12x10 48. 12 x5 = 3. 12x3= 9. 12 x1=
2412 x1= 49. 12 x 12 = 74 12x9= 9. 12x5=
25 12 x3 = 0. 12 x12= 12 x3= 100. 12 x 12 =
© Facilitators Ferriswheel WS#:Mult504 Score:



Answer Key

Date:
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Multiplication 504

How do you catch an elephant? Hide in the grass and

make a noise like a peanut.

Multiply these numbers.

1 12x5=60 2% 12x10= 120 5 12x8=96 6 12x11= 132
2. 12x2=24 2 12x8=96 52 12x2=24 77 12x11= 132
3. 12x12=144 28 12x7=84 58 12x5=60 78 12x12= 144
4 12x10= 120 2% 12x2=24 % 12x1=12 7% 12x11= 132
5 12x1=12 30 12x12= 144 5 12x12= 144 8. 12x7= 84
6. 12x7=84 8. 12x9=108 5 12x5=60 8 12x5= 60
712x3=36 % 12x12= 144 5 12x3=36 8 12x12= 144
8 12x10= 120 33 12x11= 132 5 12x10= 120 8 12x9= 108
% 12x11=132 34 12x3=36 59 12x4=48 8 12x11= 132
1012 x12= 144 35 12x1=12 6. 12x4=48 8 12x3= 36
. 12x3=36 36 12x12= 144 6. 12x8=96 8 12x1= 12
1212 x2=24 37 12x11=132 6 12x2=24 8. 12x9= 108
13.12x3=36 38 12x10= 120 6 12x11= 132 8 12x6= 72
14.12x10= 120 39 12x5=60 6 12x3=236 8 12x1= 12
1512x1=12 40 12 x12= 144 6 12x9= 108 9 12x5= 60
16 12x3=36 4. 12x12= 144 6 12x3 =236 9 12x12= 144
1712 x10= 120 42 12 x11= 132 6 12x10= 120 9 12 x9= 108
18 12x11=132 4 12x3=36 6 12x4=48 9B 12x11= 132
1912 x12= 144 44 12x1=12 6 12x4=48 9% 12x3= 36
20 12x3=36_ 4 12x12=144 70 12x8=96 9% 12x1= 12
2l 12x2=24 4 12x11=132 ™ 12x2=24 % 12x9= 108
222 12x3=36_ 4. 12x10= 120 72 12x11= 132 9 12x6= 72
23 12x10=120 4 12x5=60 73 12x3=36 9% 12x1= 12
24 12x1=12 4 12x12= 144 7 12x9= 108 9 12x5= 60
2 12x3=36_ 5. 12x12= 144 75 12x3 =36 1200 12 x12= 144
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